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R17M3 spectral tristimulus values Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

P60:Σy−R17M3,s(λ)=99,60
xR17M3,s=0,2988
yR17M3,s=0,3055
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P55:Σy−R17M3,s(λ)=98,96
xR17M3,s=0,3077
yR17M3,s=0,3156
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P50:Σy−R17M3,s(λ)=98,29
xR17M3,s=0,3187
yR17M3,s=0,3274
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P45:Σy−R17M3,s(λ)=97,64
xR17M3,s=0,3325
yR17M3,s=0,3410
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P40:Σy−R17M3,s(λ)=97,09
xR17M3,s=0,3501
yR17M3,s=0,3566
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y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
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P35:Σy−R17M3,s(λ)=96,78
xR17M3,s=0,3727
yR17M3,s=0,3741
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P30:Σy−R17M3,s(λ)=97,06
xR17M3,s=0,4021
yR17M3,s=0,3928
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P25:Σy−R17M3,s(λ)=98,75
xR17M3,s=0,4404
yR17M3,s=0,4102


